Summer 2024
Honors Geometry Summer Packet

All students entering Honors Geometry must complete this packet before school starts. The use of
apps or websites such as PhotoMath or Mathway, or the use of Al such as ChatGPT to solve
problems is strictly prohibited and is a violation of the Honor Code. On the first day of school,
you will be asked to sign an Honor Code statement that you completed this packet, but it will not
be collected. You may ask for help from family, friends, or a tutor, and you may use the websites
listed below to re-learn things you have forgotten, but the work in the packet must be your own.

On the first day of school, your packet will be checked for completion and you will be asked to sign
an Honor Code statement that it is your own work, but the packet will not be collected. We will
not be reviewing this during class, so as you work through the packet, take notes on things you

had to look up. You will be putting this packet and those notes at the front of your Geometry
binder for reference.

The expectation in this course is that you show all of your work, and that your work be done neatly
so that others can easily follow it. Make sure your 9’s don’t look like 4’s, and your x’s and y’s are
distinctly different. No work = no credit, and work that is not neat and legible will not be graded
in this course.

Calculators are discouraged when working on this packet. We will not use calculators for at least
the first quarter of the school year.

We recommend the following websites if you need more help with any of the topics:
www.khanacademy.org

www.purplemath.com

www.mathbitsnotebook.com

www.mathantics.com

The following materials will be required:

e Graphing calculator (TI-84 Plus or TI-84 Plus CE). Casio calculators are not permitted.

e Graph paper and loose leaf paper

3-ring binder (can be shared with other subjects as long as Geometry has its own section -
there will be many handouts)

Pencils

Highlighters (2-3 colors)

2 colored pens for correcting work

Colored pencils

6-inch ruler and scissors

Two black thick Expo markers with you at all times (no colors)

Good luck, pace yourself, and have a great summer!



Name:

1. What is the area, in square centimeters, of the shape
below?

4.1cm

2. The area of the triangle below is 35.7 square inches.
What is the length of the base?
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3. What is the area, in square centimeters, of the shaded
part of the rectangle below?

5cm

1 cm

18 cm

4. What is the area, in square inches, of the trapezoid
below?

17.71in

9.4in

8.6in




S. Write an expression that represents the perimeter of the 7. Given the two rectangles below. Find the area of the |

figure below. Write your answer in simplified form. shaded region.
a -
d d
8
d d
c c
d d
b b
a

8. All of the quadrilaterals in the shape below are squares.
Find the area of the shaded region.

6. One rectangle is "framed" within another. Find the area "
of the shaded region if the "frame" is 1 unit wide.
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9: The diameter of a circle is 20 in. Find its area in terms 13. Find the Area of the figure below, composed of a
of 7. rectangle and two semicircles. Round to the nearest tenths
place.

16

10. The radius of a circle is 16 cm. Find its area to the
nearest whole number.

14. Find the Area of the figure below, composed of a

11. The area of a circle is 121x fi*. What is the rectangle and a semicircle. The radius of the circle is
circumference, in feet? Express your answer in terms of 7r. shown. Round to the nearest tenths place.
11

12. The circumference of a circle is 25t cm. What is the
area, in square centimeters? Express your answer in terms
of 7.
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15. Find the surface area of the rectangular prism.

4 km

3km

16. Find the surface area of a square pyramid with side

length 5 km and slant height 6 km.

17. A rectangular prism has a length of 9cm, a height'of -
17cm, and a width of 16cm. What is its volume, in cubic
cm?

18. A cube has an edge length of 2 feet. What is its
volume, in cubic feet?
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19. A cylinder has a base diameter of 8 feet and a height of

7 feet. What is its volume in cubic feet, to the nearest
tenths place?

20. Find the volume of the right cone below. Round your
answer to the nearest tenth if necessary.

21. Two containers designed to hold water are side by side,
both in the shape of a cylinder. Container A has a radius of
4 feet and a height of 6 feet. Container B has a radius of 3
feet and a height of 15 feet. Container A is full of water
and the water is pumped into Container B until Container
A is empty. To the nearest tenth, what is the percent of
Container B that is full after the pumping is complete?

Container A Container B
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22. Sarah decides to estimate the volume of an orange by
modeling it as a sphere. She measures its radius as 4.8 cm.
Find the orange's volume in cubic centimeters. Round your
answer to the nearest tenth if necessary.

23. Solve for the value of 7.

65°
(4r-1)°

24. Solve for the value of 2. T

(3z+2)°

(82)°

A

25. Find the length of the third side. If necessary, round to

the nearest tenth.
6
3

26. Find the length of the third side. If necessary, round to
the nearest tenth.
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27. Solve for Z 1o the nearest tenth.

29. Solve for c.
6

J - —49 = 2¢ — 29

30. Solve for y.

3
i =4
10+4y— 3

31. Solve for :
4z —10(—z — 1) = 6(z — 2)

28. Find the area of the shaded region of circle N below.
Round your answer to the nearest tenth if necessary.

32. Solve for x.
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33. Solve for x. 36. Put the following equation of a line into slope-intercept

z+3 x+8 form, simplifying all fractions.
2 7 5c+1y = —4
34. What is the slope of the line that passes through the 37. What is the equation of the line that passes through the
points (8, —6) and (5, —1)? Write your answer in point (—1, 2) and has a slope of —1?

simplest form.

38. What is the equation of the line that passes through the

AN 2
35. Write the equation of the line in fully simplified slope- point (3, 4) A 1as aouncened Slopss

intercept form.

|
®o O
| |
N
CEE

»
|
|
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B
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b
&
3
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g
»
:
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)
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&
-
2lCls

o1 39. What is the equation of the line that passes through the
T point (—5, 4) and has a slope of 02

é

N &
1
|
|

3
Lt |

X
1
ie] ]
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N RS

g
=
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40. What is an equation of the line that passes through the
points (—5,7) and (5, -5)?

41. Solve the following equation for d.

g
= =43
m d+

42. Solve the following equation for m.

1

43. Given f(z) = —3z? — 3z, find f(—6)

44. Given f(z) = —z? + 6z, find f(—4)

45. Express in simplest radical form: /72

46. Express in simplest radical form: /54

47. Express in simplest radical form: /20

© Copyright DeltaMath 9



et |

48. Express in simplest radical form: /40

52. Use a straightedge to graph a line that is parallel to the~
given line. Be sure to pass through lattice points (the
corners of the grid lines). Determine the slopes of both the
given line and the one you graphed in simplest form.

[ [ ‘
R T
Ll gl i el
B O B A&
‘ )| i \’?'I
e SN N S ——— — SL—L . -
WS e ’
| | ‘ | |
o . gttt
49. Express in simplest radical form: /32 M n
" RN |
10-9 -8 -7 6 -5 -4 -3 2 -1 1.345/»7 10
t I il B "—‘_'
L b L1 1
T TR oA
T—— 1] 4 »Jla 4 _-._%_
‘ ‘ o | 1
‘ /1 | !
= 1 711 t
1 i -8 1 , |
I | o §
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Y

50. What is the product of 64/3 and 3+/6 in simplest
radical form?

u

53. Use a straightedge to graph a line that is perpendicular
to the given line. Be sure to pass through lattice points (the
corners of the grid lines). Determine the slopes of both the
given line and the one you graphed in simplest form.

A
L _'7—_7‘1 T
S ERE R, O
51. Express in simplest radical form. e J___.;__‘L— 1 _/ 1=
—-10v45 + 5v20 I 1 [ [7'
3
i 31— s
| | A
T A B
- [ =1 -
0987654321 ] 2345678010
CFH A
I EREN
| i | |
R
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54. Which equation represents a line which is parallel to
the line 8T + y = —39

A y=3z+1 B. y=8z+7

C.y=-3z+5 D.y=-8z—6

S5. Which equation represents a line which is
perpendicular to the line 5z + 4y = 24?

A. y=—%m+5

B. y=22-2

Gl o

C.y=zz+1

D. y=—§:c—1

56. Find the slope of a line perpendicular to the line whose
equation is 3 — 3y = 18. Fully simplify your answer.

57. Find the slope of a line parallel to the line whose
equation is £ + y = —6. Fully simplify your answer.
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58. What is an equation of the line that passes through the
point (—5, 2) and is perpendicular to the line
T —2 =27

59. Which of the segments below is a radius?

o a w »

11



60. Factor completely: 2z — 9z + 4

61. Factor completely: 5z + 49z — 10

62. Factor completely: 2z* — 262% + 24x?

63. Factor completely: 48z% — 27

64. Factor completely: 322 —z—2

65. Factor completely: 622 + 19z + 3

12

66. Factor completely: —4x? + 16z + 84

67. Factor completely: 4z® — 12z% — 72z

68. Factor completely: z2 — 64

69. Factor completely: 9z2 — 49

70. Express as a trinomial: (2 + 6)(z — 6)

71. Express as a trinomial: (2z — 4)(2z — 9)
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1. What is the area, in square centimeters, of the shape
below?

2. The area of the triangle below is 35.7 square inches.
What is the length of the base?

(b =8.5in

ANSWER KEY © Copyright DeltaMath

3. What is the arca, in square centimeters, of the shaded

Honors Geometry Summer Packet

part of the rectangle below?

scm

18 cm

A =144 cm?®

icm

4. What is the area, in square inches, of the trapezoid

below?

17.7in

9.4in

8.6in

A = 123.61 in?

S. Write an expression that represents the perimeter of the
figure below. Write your answer in simplified form.

a

d d

d d

a

[P =2a+2b+ 2c + 6d

6. Onc rectangle is "framed" within another. Find the area
of the shaded region if the "frame” is 1 unit wide.

7. Given the two rectangles below. Find the area of the

shaded region.

8. All of the quadrilatcrals in the shape below are squares.

Find the arca of the shaded region.
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9. The diameter of a circle is 20 in. Find its area in terms
of 7r.

LA = 1007 in?

10. The radius of a circle is 16 cm. Find its area to the
nearest whole number.

A = 804 cm?

11. The area of a circle is 121 fi2. What is the

circumference, in feet? Express your answer in terms of 7r.

12. The circumference of a circle is 25x cm. What is the
area, in square centimeters? Express your answer in terms
of .

| A = 156.257 cm? |

ANSWER KEY

13. Find the Area of the figure below, composed of a

rectangle and two semicircles. Round to the nearest tenths

place.

16

[ ———

14. Find the Area of the figure below, composed of a
rectangle and a semicircle. The radius of the circle is
shown. Round to the nearest tenths place.

11
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16. Find the surface area of a squarc pyramid with side
length 5 km and slant height 6 km.
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17. A rectangular prism has a length of 9c¢m, a height of
17cm, and a width of 16cm. What is its volume, in cubic

cm?

V = 2448 cin®|

18. A cube has an cdge length of 2 Jeet. What is its
volume, in cubic feet?

T

ANSWER KEY




19. A cylinder has a base diameter of 8 fect and a height of
7 feet. What is its volume in cubic fee, 10 the nearest

tenths place?
|V = 351.9 feet? |

20. Find the volume of the right cone below. Round your
answer to the nearest tenth if necessary.

13619.1 units®

ANSWER KEY

21. Two containers designed to hold water are side by side,
both in the shape of a cylinder. Container A has a radius of
4 feet and a height of 6 feet. Container B has a radius of 3
feet and a height of 15 feet. Container A is full of water
and the water is pumped into Container B until Container
A is empty. 7o the nearest tenth, what is the percent of
Container B that is full after the pumping is complete?

Container A

Container B

After the pumping, Container B is 71.1% full.

@ Caopyright Deltadath 3

12, Sarah decides to estimate the volume of an orangc by
nodeling it as a sphere. She measures its radius as 4.8 cm.
Jind the orange's volume in cubic centimeters. Round your
wmswer to the ncarest tenth if necessary.

23. Solve for the value of 7.

65°
(4r-1)°

6 @ Copy right DeltaNath

24. Solve for the value of 2.

(32+2)°

(82)°

by

25. Find the length ol the third side. If necessary, round to
the ncarcst tenth.

-

26. Find the length of the third side. If necessary, round to
the ncarcest tenth.

ANSWER KEY
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27. Solve for & to the nearest tenth. 29. Solve for c. . 33. Solve for x. 36. Put the following cquation of a linc into slope-intercept
: . —49 = 2¢ - 29 T+ 3 z+8 form, simplifying all fractions.

2 7 5¢4+y= —4
=

y= -5z —4

9
30. Solve for y.
3
. 10 + - 43
34. What is the slope of the line that passes through the 37. What is the cquation of the line that passes through the
points (8, —6) and (5, —1)? Write your answer in point (—1,2) and has a slope of —17
simplest form.
T2

Wi,

31. Solve for T:
4z — 10(—z — 1) = 6(z — 2)

38. What is the equation of the hin e that passes through the

28. Find the area of the shaded region of circle N below. : o
point (—3, 4) and has an undctinzed slope?

Round your answer to the nearest tenth if necessary. | 35. Write the equation of the ‘inc in fully simplificd slope- !
intercept form. z=-3;

l- il | . . 11 ; \ !
32. Solve for x. } T - ! S
T _1- AEEEEEN
=2 _I_,_I__ l:'lfl!.!
18 3 L R
:lanuos—avyé-s-q st?v\qmu-:=x
@ - J']' I 39. What is the cquation of the linc that passes through the
e 1] point (—5,4) and has a slopc of 0?
[

ERaREEY
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40. What is an equatio: of the line that passes through the 43. Given f(z) = —3z% — 3z, find f(—6) 48. Express in simplest radical form: /40 52. Usc a straightedge to grirh &2 that s parallel to.the
: e : iven line. Be surc 1o pass thoueli 'yiic s points (the
points (—5,7) and (5. —5)? s given
(-5 . ._,)___ 2v10 comners of the grid lires). Dot oo Lie siopes of both the
k/ __: _gz a1 given linc and the onz vou g p o ~staplest form.

' 4

49. Express in simplest radical form: \/3_5
44. Given f(z) = —x? + 6z, find f(—4)

L

41. Solve the followin: cquation for d.

m = 2 +3 ]
a
' g i
d m-3 50. What is the product of 6v/3 and 3v/6 in simplest s ciald be made)
T 45. Express in simplest radical form: /72 radical form? v ~hici Slope: 1
6v2 54v/2
§3. Usc a straightedge to grern o 0 2 het i perpendicular
to the given line. Be nure o pas. 1 wogl tattice points (the
comners of the grid lines). Dot 70 Nie Jlopes of both the
given line and the onc you grpaz:’ i sunplest form.
; -
42. Solve the followine cquation for m. 46. Express in simplest radical form: /54 ]' ? } : ! i / {_ .
1 51. Express in simplest radical form. -] ) e o
n= — +_Tm ¢ - —- 26 N -
Q+3 3v6 ~10v/45 + 5v/20 a e -
Y R R A Su
200 -20v5 T i / RN
e ] 3 I T O O D ALY A 10 o
‘qorqm-auﬁ-'r: - Sl B , 16078 W

]

47. Express in simplest radical form: /20

o
25 :‘j._

(many possible perpendiculi Lnes could be made)

1
Original Slope: 2 Perpendicular Slope: — 3
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)

§4. Which equation represents a line which is parallel to
the line8z + y = —3°

A y=gz+1 B. y=8z+7

C.y=—§x+5 D y=-8r-6

55. Which equation represents a line which is
perpendicular to the line 52 + 4y = 24?

A. y=-%x-t~5
B.y=3%z-2

. y=§:c+1]
D.y=-fz—-1i

56. Find the slope of a linc perpendicular to the line whose
equation is 3 -- 3y == 13. Fully simplify your answer.

Slope of a perpendicular line: — 1

§7. Find the slope of a line parallel to the line whose
cquation is & + y = —0G. Fully simplify your answer.

Slopt-zugf a parallel line: — 1

ANSWER KEY

58. What is an cquation of the line that passes through the
point (=5, 2) and is perpendicular to the line
T—-2y=20

y=-2z-8

59. Which of the segments below is a radius?

oo w >
Sl §
Ol Ql <

@« Coparight DeltaMath

60. Factor completely: 222 — 9z + 4

(2z - 1)(z — 4)

61. Factor completely: 5z2 + 49z — 10
(5 — 1)(z + 10)

62. Factor completely: 2z% — 262° + 24z2

2z%(z — 12)(z - 1)

63. Factor completely: 48z® — 27

3(4z* + 3)(4z* - 3)

64. Factor completely: 3z2 — z — 2

Bz +2)(x—1)

65. Factor completely: 622 + 19z + 3

(6 + 1)(z + 3)

12
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66. Factor completely: —42° | il + 84

-4+ 3= - 7)]

67. Factor completely: 4z — 122% — 72z

Ba;(:z: +3)(z — e_)]

68. Factor completel - z? - G4

(z +8)(= - 9)]

i 69. Factor completely: 9z? - I

70. Express as a trinomial: (2. - b)(z — 6)

202 - 62 -3

71. Express as a trinomial: (2.2 — 4)(2¢ — 9)

4” — 261 + 36|

ANSWER KEY
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